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Using prime factors, find the HCF, of the following pairs of numbers .

yy 36 48 » 8 118 9 81, 135
n" 8% 9 6 62, 93 0 176, 229
3, T8 9 N 78 3 iy 49, 100
4 108; 144 . Uk N 12y 30, 200

_Find by the method of division, the H.C.F, of the following :

1) 297 o} 5 3975, 1219 9) 2041; 3140
2y 1000; 1825 6) 1353, 3690 10) 2387, 4557
3 2117; 949 7 178; 623 11y 7383;

4 1222; 2397 %) 1515; 4141 12) 3577,




¢. Find th
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| ]‘s) 498 747 913
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1, 258; 387; 860
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)
2)
3)

Q)

‘297, 621
1000; 1825
2117; 949
1232 2990,

e HCE of the following pairs of numbers, using the m
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17) 465; 775; 961

18) 1164; 1746: 2910
19) 1515; 2525; 4343
20) 1428; 1904; 3213,

3975; 1219 " 9)
13531 3690 10)
Vi 025 . 11)
1515; 4141 12)






